EI3TEEHBI—L Yy H— Y —FEIFALEAE 0-40,50,60 Yy Hh—XEAEHEFE ARX R6EE)

HMBER (TRU—Y) B 20244E3 4298
0-40: 24 L—TA: 7 -B: 8F—L, 0-50: 1 2F—L, 0-60: 6F—L, 0-65: 4 F—4 e
| AR | % || peRS 8 BERUEY ¥ 215
@ [50A]  9:00[50% 15 P+ 2sC D0 [p0mmiiz=v 5 2SC [S0EEHIO ST 1
@ |508| 10:10|50DREAM MIYAG! 50B0SCO 1 50Pgcoms = 7 1 WET Yy N f—
47 [ @ [s0a] 11:2050EmEIKT Y ST BIL - k5o k- 7Y T4 = |S0EHMHESC 1 Mtz & —P1
1] B |@|[50B| 12:3080Pgcoms =7 50FC355 A+ A% 50B0SCOE 1 1 (8:00-14:00)
0
n
0
@ [40m[ e:00j=uvargses s 0L kS k Y2 [S0KEBFCL=7F |
@ |40B| 10:10[40EPOB 40BH = FFC 40y =—8C | WETy hA—
4/7 | @ |40A| 11:20/40 15 mm+&SC 40KIEFCL = F 0L - FSu k- FJa ! e R—P2
2| B |@[40B| 12:30408 50 < fLEFC 40w =—sc AWOTGHYINL =T | (8:00-17:00)
® | 60| M3-4060%¥ N VLB R Y Y 60L - RS> k- ¥y |60EHmRSC !
® |40a| 14:40l40T6H > TN =T 40PAPASALI & 4075 O < fUEFC !
@ | 60| 15:50[60% % pm+&5C 60FC35S 4 H < 602 T Ty Y 1
@ [50B| 9 00|50DREAM MIYAGI O UUAREZyY  [50EEZ = w2 ASC 1
@ |50A| 10:10|50EPOB 50/38FC 0BT ¥ —X 1 WE7w bfi—
4/14 | ® [50A| 11:20/50= KTV 5 7 BOEH 7 T =v 4~ XSC  |S0DREAN MIYAG! ! et g—P1
3| 8 |@|50B| 12:30[B0dtBET A4 —x 50Pgcoms, = 7 50K HEFC 1 (8:00-14:00)
0
0
0
@ [40a|  9:00[40B0SCOALIE WEHHKTY T T 40FC36S 4 H < 1
@ |40B| 10:10/40Pgcoms =7 40450 CUEFC 40KIBFCL =7 2 BBy kR—
414 | ® |40B| 11:20/40L - pS k- Fua |l 40FC35S F H < OEBBET YT 1 ey g—F2
4| B |@|40A| 12:30/d0KMEFCL =7 40PAPASHIIE 40450 CIAFC 2 (8:00-17:00)
® | 60| 113:30[60% T VLB R v Y BOEM T == 7 RSC S |40Pgoom =7 1
® | 60| 14:40[60mHmImTL S T B0L + bS5 k-4 |40PAPASILE 1
@ |40 15-d0feim p v BER Y Y 40EPOB BOEW T = w7 XSC S 1
@ [40A] 9:00[40TGH YT LL =7 WERKT 5T 40% 3% = FFC 1
@ [50B| 10:10(50% UV AMBE v 50Pgcomss — 7 40EHm+#5C 1 B CHTY
4/21 | @ [40B| 11:20[40FC365 A H < 408K = FFC 4RI LA —X 1 H—HC
B | @ |50A| 12:3050L « kS b - FTZ EW Iz = v RSC 0= Y LINESE vy 1 (B00-18 00)
5 ® |40A| 13:30|40Z i+ &SC 4GB E—X 40EPOB 1
® | 60 14:40/60 i m+&SC (oY LB R v s [BOFCIEL A H = 1
@ |40B| 15:40|40EPOB 40y = —SC 5L hSvbk-FYTa= | |
60| 16:50(60EHHKT Y T T B0FC35S A H T B0 P+ &SC 2
0
@ [50A|  9:00[507Z #EFC 50L - b2k FrT 4= |BOFCIEL A AT 1
@ [40B [y 10:10j40= ) VLB S o T 40Pgcoms =7 WEHHRLY > T 2 WETy hAR—
4/28 | @ [50B| 11:20[50FC35L 4 H = 50BOSCOZ 15 5OI5#EFC 2 ntera—p2
6| B [ @|40A] 12:300mmHRT ST LOKIGFCY =7 40Pgcoms = 7 2
® |40A| 13:40/40dbBET L H — R 40PAPASHI & 40y = —SC 2 (8:00-18:00)
® | 65| 14:50/65E BT T =v o RS 65 VLB A v o |40TGH v TN T 2 i
@ |40B| 15:50/40% % = FFC 40 = —SC 400 kBET LY —X 2
40A| 17:00[d0TEH > TAL =7 40BOSCOAI & 40PAPASALIE 2
@ [40B|  9:00[40FC35s FH < [ |40# B o < fLAFC 40Pgcoms =7 3
@ [40B R 10100807 U VLR E 2 7 40y =—SC AWK Y5 T~ 3 B CHBY Y
5/6 | @ |40B| 11:20(40Pgcoms =7 0L - bSu bk FUa |[0B5OAUEFC 3 h—15C
S| B (@] 60 12:30/p0Em Tz =y 5256 S 60L - S k- Uy 0O U LRBE Y 1 (8:00-18:00)
® |40A| 13:30(404tBET N & —X WEBHTY ST 40BOSCOAI £ 1
® |40A| 14:40|40% HimE+SC 4OPAPASALIE 50EPOB 1
@ |40A| 15:50(40B0SCOMI& 40KIBFCL =7 A0dLRET L X — X 3
50A| 17:00/50E=MmKIT Y 7 50EPOB A0E g+ SC 2
M | 60| 4 9:00[60= 1 VILIRES v Y 60E ALY 5T 60L - hS kY 1
@ | 60[ 10:0060L - kS ¥k - B 60FC35S A H < 60EHIKT 5 5 7 1 WET Y kA—
8| 5/12 | ®| 60| 11:00|60=mm+&SC GO T =y Y RSC S [B0FH UL v S 2 Ay g —P1
B | @] 65| 12:005Emr-ws R 6EEIET Y 5 T 60215 P50 3 (8:00-13:00)
0




AR T

ER

@ |50B|  9:00[50DREAM MIYAGI 50Pgcomss = 7 50T L4 —X 2
@ |40B| 10:10/65E Tz = v 5 RS 6SEHEET 7 5 T 40FC35S F H = 2 BBy kf—
5/26 | @ [50B| 11:20[50B0SCOZHE 50dEBET LA — X GODREAM  MIYAGI 2 v E—P2
9| B |@|40A] 12:30(40B0SCOMIE A0PAPASAL & 50Pgcoms, = 7 2 (8:00-17:00)
® | 60| 13:30[60EH 7z =v o RSC S 60FC355 # H < 50BOSCOE 2
® |208] We-s0fdoz v v BEES v AOFC36 F H = 40PAPASHII & 3
@ [40a| 15:40/404cBET L ¥ —% AOKIBFCL = 7 A0BOSCOMI & 2
@ [50a| 13:00[50% Him+#SC 50EPOB AEBHI Y S T 4
@ [40B| 14:10M40L - KSR TUA 40&%9:7F_c ‘ 40215 0 <AUBFC 4 !
5/26 | @ |40A| 15:20|40 i m+2sC MNEERTY T T 50EPOB 2
10| B |@ |[40B| 16:30/40EP0B 40250 ALEFC 0L FSUh-FUa | 2 (12:00-18:00)
0 18:00F CER
0
0
@ |40B]  9:00[40Pgcoms =7 40 =—SC 4034 = FFC 2
@ | 65| §10:10l66= U YV ILIMBE WY E Iz = v IR J 60EWHKI Y 57 2 WE7y -
6/2 | @ |40 11:20[408 %> =FFC 4035 M < JUBFC 40Pgcoms, = F 4 N a—P2
B |@]| 60| 12:30/60% i m+#SC GOEIRT 7 5 7 50% YU NES v Y 2 (8:00-18:00)
n ® |108| 13:30/40T6H > TA L =7 40KIBFCS = 7 40BOSCOMIE 3
® [50B| 14:40f50% VLR S v S 50FC353 A H < BOR 7 = = w4 RSC 2
@ |40A| 15:40[40E s m+SC 40BOSCOAL & ADKMSFCL = F 3
® 50| 16:50|50EPOB BOm T T =4 ASC  |50FC3BL A H T 2
0
@ |40 9:00[40Pgcoms =7 A0FC35 7 A< AOPAPASHII S 4
@ 40| 10:10[40EP0B 0L - kS¥ k- FUa [TGHYILY=T 3 WMETY R AR—
6/9 | ®[a0n| 11:20ls0mmETSS T 40PAPASALE 40FC363 A H = 3 Neva—P2
| B [@[oa] 12:3040t6 Ty =7 A0BET L L —X AOL - FSvh-FUa 3 (8:00-18:00)
® | 60| 13:3060=mWMT Yy ST 60EIE 7T =y~ ASC S |6OFC3EL A A< 2
® |50A| 14:40[50% s em+SC 50E#RFC SODREAM  MIYAGI 3
@ | 60| W5:40l60% ) A BE 3P B0FC355 4 7 < B0EH Tz =w o ASCS | 2
50B| 16:50|50DREAM MIYAGI 50dERE T L X — X 50T+ & SC 2
@ |40B|  9:00[40FC36 L A+ H = 40 = —SC 407 ) VLB E v S ¢
@ [BDA| 10:10|50@#F0 507 =—v oy RSC 50BOSCOE 15 K] ot I AR
8/16 | @ [a0B|Y 17 20|e0% v By w5 40BHY = FFC AOFC35< 7 H < P 55 KA
B | @ [50B| 12:30]50Pgcoms =7 50B0SCOE 13 BOEE T T = v & XS0 3 §-00-16:00)
13 ® |40a| 13:4040TGH > T =7F 4045 I+ SC 40E % = FFC 3
® |50B| 14:50|50DREAM MIYAGI 50FC35L A H 7 50Pgcoms = F 3
0
1]
@ |408] 9:00[40L - RSV b FUa 4035 0 ALBFC 40Pgcons =7 5
@ |508| 10:10[504tBET L Z—X 507 U U ALAAB A v~ |50EPOB 3 EEshbuny
6/16 | @ [40B| 11:20[40Pgcoms =7 40EPOB 40245 O < AIBFC 5 Fv kB
B |@®|s0a| 12 20|50EP0B BOL - FSv bk FuTaz 50T Y U NES v 3 (8:00-16:00)
14 ® |40A| 13:40[4080SCOMIE SR T LA — X A0EPOB 2
® [508| 14:50/50% tHm+#S0 BOEIRT Y 5 7 0L - bSY b FYT4= | 2
0
0
0
@ [40B|  9:00|40Pgcoms = 7 40BRL = FFC Yuzvvneasys 3
@ [50B| 10:10/50dkEET L ¥ —X 50FC36S A A< 50L - b b-FUT4Z | 3 WEITw hfi—
6/23 | @ |40B| W1:20fdv= U U IRES U 40545 0 < IUAFC 40EPOB 3 Lt F—P1
B | @ [s0a| 12:30/50=sm+&SC 50L - FSv bk FUT7as [S0dEBTAZ—X 3 (8:00-18:00)
15 ® |40B| 13:30[40EPOB 40FC363 A H T 40 = —8C 3
® |50B| 14:40f50% B R Y Y 50B0SCOE ig; BORHRT Y T 7 2
@ |aoB| 15:40l40L - FS k- FUa 40V =—SC 40FCIBL A H = 5
® |504| 16:50[50mmmT Y > T 50/ #AFC 507 Y ILIES v Y 4
0
M| 65| 16:00|65EH 7z =v ¥ RS EEHII=v IR 657 3 VILIRES v T 1
@ | 60| 17:00[60=iHm+sC B0L - h3 k- By [BEEETI= w4 RS 1 WETy kA—
777 |®/| 65| 18:00fesTuvAEE Y BEEWIKT Y 5T EEWTI=v IR d 1 ez —P1
16| g 0 (15:00-19:00)
0
0
0




